## Bids received for 2017 Annual Traffic and Safety Sign Materials and Sign Posts

BIDS RECEIVED FOR: Roll Material BID DATE: 04/21/2017

ITEM:	Roll Material	Ost	Osburn		Rathco		Dornbos		Lightle		
MATERIAL	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
3M Diamond Grade DG3 Reflective Sheeting - Standard Colors – Series 4000	2400	\$2.77	\$6,648.00	\$2.79	\$6,696.00	\$2.92	\$7,008.00	\$3.22	\$7,728.00		
3M Diamond Grade Fluorescent DG3 Reflective Sheeting – Standard Colors – Series 4080	300	\$2.86	\$858.00	\$2.89	\$867.00	\$3.02	\$906.00	\$3.38	\$1,014.00		
3M Scotchcal Graphic Film – Black – Series 3650-12	300	\$0.98	\$294.00	\$1.04	\$312.00	\$1.22	\$366.00	\$1.24	\$372.00		
3M ElectroCut Film - Standard Colors – Series 1170	3000	\$0.92	\$2,760.00	\$0.99	\$2,970.00	\$1.14	\$3,420.00	\$1.03	\$3,090.00		
TPM-5 Clear Transfer Tape	1800	\$0.29	\$522.00	\$0.33	\$594.00	\$0.33	\$594.00	\$0.31	\$558.00		
ROLL MATERIA	\$11,082.00		\$11,439.00		\$12,294.00		\$12,762.00		\$0.	00	

No Bid - MD Solutions

## Bids received for 2017 Annual Traffic and Safety Sign Materials and Sign Posts

BIDS RECEIVED FOR: Vertical Strips

BID DATE: 04/21/2017

ITEM:	Vertical Strips	Dornbos		Osburn		Lightle		Rathco			
MATERIAL	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
3M Diamond Grade DG3 Reflective Sheeting - Standard Colors – Series 4000	25	\$6.26	\$156.50	\$6.43	\$160.75	\$8.13	\$203.25	\$9.58	\$239.50		
3M Diamond Grade Fluorescent DG3 Reflective Sheeting - Standard Colors – Series 4080	25	\$6.26	\$156.50	\$6.55	\$163.75	\$8.33	\$208.25	\$9.58	\$239.50		
VERTICAL STRIF	\$313.00		\$324.50		\$411.50		\$479.00		\$0.	.00	

No Bid - MD Solutions

BID DATE:

04/21/2017

ITEM:	Regulatory and Misc.	Dor	nbos	Osl	ourn	Rat	hco	Lig	htle		
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
12" x 6"	5	\$2.50	\$12.50	\$2.57	\$12.85	\$4.80	\$24.00	\$3.40	\$17.00		
12" x 12" (2 color)	5	\$5.01	\$25.05	\$5.24	\$26.20	\$5.65	\$28.25	\$6.60	\$33.00		
12" x 18"	10	\$7.51	\$75.10	\$7.71	\$77.10	\$8.53	\$85.30	\$9.72	\$97.20		
12" x 36"	25	\$15.03	\$375.75	\$15.42	\$385.50	\$15.78	\$394.50	\$19.44	\$486.00		
18" x 6"	20	\$3.75	\$75.00	\$3.86	\$77.20	\$3.98	\$79.60	\$4.86	\$97.20		
18" x 30"	10	\$18.78	\$187.80	\$19.28	\$192.80	\$19.73	\$197.30	\$24.30	\$243.00		
21" x 15"	5	\$10.92	\$54.60	\$11.24	\$56.20	\$11.51	\$57.55	\$14.19	\$70.95		
24" x 9"	5	\$7.51	\$37.55	\$7.71	\$38.55	\$8.10	\$40.50	\$9.72	\$48.60		
24" x 10"	5	\$8.31	\$41.55	\$8.57	\$42.85	\$8.75	\$43.75	\$10.80	\$54.00		
24" x 12"	5	\$10.02	\$50.10	\$10.28	\$51.40	\$10.40	\$52.00	\$12.96	\$64.80		
24" x 18"	20	\$15.03	\$300.60	\$15.42	\$308.40	\$15.78	\$315.60	\$19.44	\$388.80		
24" x 24"	5	\$20.04	\$100.20	\$20.56	\$102.80	\$21.04	\$105.20	\$25.92	\$129.60		
24" x 24" 2 color	20	\$20.04	\$400.80	\$20.96	\$419.20	\$21.40	\$428.00	\$26.10	\$522.00		
24" x 30"	400	\$25.05	\$10,020.00	\$25.70	\$10,280.00	\$31.15	\$12,460.00	\$32.40	\$12,960.00		
24" x 30" 2 color	5	\$25.05	\$125.25	\$26.20	\$131.00	\$26.75	\$133.75	\$32.60	\$163.00		
24" x 36"	50	\$30.06	\$1,503.00	\$30.84	\$1,542.00	\$31.56	\$1,578.00	\$38.88	\$1,944.00		
24" x 42"	10	\$35.07	\$350.70	\$35.98	\$359.80	\$36.82	\$368.20	\$45.36	\$453.60		
30" x 12"	5	\$12.52	\$62.60	\$12.85	\$64.25	\$13.15	\$65.75	\$16.20	\$81.00		
30" x 30"	10	\$31.31	\$313.10	\$32.13	\$321.30	\$32.88	\$328.80	\$40.50	\$405.00		
30" x 30" R1-1	300	\$30.05	\$9,015.00	\$30.84	\$9,252.00	\$32.25	\$9,675.00	\$39.50	\$11,850.00		
30" x 36"	60	\$37.57	\$2,254.20	\$38.55	\$2,313.00	\$39.45	\$2,367.00	\$48.60	\$2,916.00		
36" x 36" R1-1	50	\$43.59	\$2,179.50	\$44.20	\$2,210.00	\$46.80	\$2,340.00	\$57.90	\$2,895.00		
36" x 36" R1-2	5	\$22.22	\$111.10	\$23.13	\$115.65	\$21.19	\$105.95	\$29.40	\$147.00		
36" x 36"	5	\$45.09	\$225.45	\$46.26	\$231.30	\$47.34	\$236.70	\$58.32	\$291.60		
48" x 9" R15-1	5	\$48.36	\$241.80	\$78.84	\$394.20	\$59.60	\$298.00	\$59.00	\$295.00		
48" x 24"	5	\$40.08	\$200.40	\$41.12	\$205.60	\$42.08	\$210.40	\$51.84	\$259.20		
48" x 30"	20	\$50.10	\$1,002.00	\$51.40	\$1,028.00	\$52.60	\$1,052.00	\$64.80	\$1,296.00		
48" x 48"	5	\$80.16	\$400.80	\$82.24	\$411.20	\$84.16	\$420.80	\$103.68	\$518.40		
54" x 30"	5	\$67.04	\$335.20	\$57.83	\$289.15	\$59.18	\$295.90	\$72.90	\$364.50		
REGULATORY and MISC. SIGNS TOTAL		\$30,0	76.70	\$30,939.50		\$33,787.80		\$39,091.45		\$0	.00

BIDS RECEIVED FOR: Prefabricated Reflectorized Signs

BID DATE:

04/21/2017

I I I I I I I I I I I I I I I I I I I	Warning / School	Dor	nbos	Osl	ourn	Rat	thco	Lig	htle		
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
12" x 36"	100	\$15.33	\$1,533.00	\$15.72	\$1,572.00	\$16.08	\$1,608.00	\$19.44	\$1,944.00		
18" X 18"	5	\$11.49	\$57.45	\$11.79	\$58.95	\$10.01	\$50.05	\$14.58	\$72.90		
24" x 8"	10	\$6.79	\$67.90	\$6.99	\$69.90	\$7.95	\$79.50	\$8.64	\$86.40		
24" x 12"	5	\$10.22	\$51.10	\$10.48	\$52.40	\$10.72	\$53.60	\$12.96	\$64.80		
24" x 18"	10	\$15.33	\$153.30	\$15.72	\$157.20	\$16.08	\$160.80	\$19.44	\$194.40		
24" x 24"	50	\$20.44	\$1,022.00	\$20.96	\$1,048.00	\$21.44	\$1,072.00	\$25.92	\$1,296.00		
24" x 30"	75	\$25.55	\$1,916.25	\$26.20	\$1,965.00	\$26.80	\$2,010.00	\$32.40	\$2,430.00		
30" x 30"	450	\$31.93	\$14,368.50	\$32.75	\$14,737.50	\$33.50	\$15,075.00	\$40.50	\$18,225.00		
30" x 30" 3 color	120	\$37.11	\$4,453.20	\$33.38	\$4,005.60	\$38.71	\$4,645.20	\$44.90	\$5,388.00		
30" x 36"	10	\$38.32	\$383.20	\$39.30	\$393.00	\$40.20	\$402.00	\$48.60	\$486.00		
36" x 36"	50	\$45.99	\$2,299.50	\$47.16	\$2,358.00	\$48.24	\$2,412.00	\$58.32	\$2,916.00		
36" x 36" 2 color	5	\$56.31	\$281.55	\$48.06	\$240.30	\$57.15	\$285.75	\$58.52	\$292.60		
36" x 36" 3 color	50	\$56.31	\$2,815.50	\$48.06	\$2,403.00	\$55.83	\$2,791.50	\$64.50	\$3,225.00		
36" Circle	10	\$45.76	\$457.60	\$47.16	\$471.60	\$48.24	\$482.40	\$58.32	\$583.20		
36" Pentagon	10	\$42.82	\$428.20	\$47.16	\$471.60	\$48.06	\$480.60	\$58.32	\$583.20		
48" x 24"	200	\$40.88	\$8,176.00	\$41.92	\$8,384.00	\$42.88	\$8,576.00	\$51.84	\$10,368.00		
48" x 36"	150	\$36.62	\$5,493.00	\$31.44	\$4,716.00	\$29.48	\$4,422.00	\$38.88	\$5,832.00		
60" X 30"	5	\$63.87	\$319.35	\$65.50	\$327.50	\$67.00	\$335.00	\$81.00	\$405.00		
WARNING and SCHOOL SIGNS TOTAL		\$44,2	76.60	\$43,4	\$43,431.55		941.40	\$54,392.50		\$0	.00
		Dor	nbos	Osl	ourn	Rathco		Lightle			
PREFABRICATED REFLECTORIZED SIGN TOTALS		\$74,353.30		\$74,371.05		\$78,729.20		\$93,483.95		\$0.	00

No Bid - MD Solutions

BIDS RECEIVED FOR: Aluminum Sign Blanks

BID DATE:

04/21/2017

ITEM:	0.080 Gauge Flat Treated Aluminum Sign Blanks	Osk	ourn	MD So	lutions	Dori	nbos	Lig	htle	Rat	hco	
DESCRIPTION	QUANTITY	UNIT	AMT									
12" x 6" Rectangle	5	\$1.01	\$5.05	\$1.60	\$8.00	\$1.03	\$5.15	\$1.60	\$8.00	\$1.90	\$9.50	
24" x 12" Rectangle	75	\$4.04	\$303.00	\$4.06	\$304.50	\$4.14	\$310.50	\$4.98	\$373.50	\$5.34	\$400.50	
30" x 12" Rectangle	150	\$5.05	\$757.50	\$5.08	\$762.00	\$5.17	\$775.50	\$6.23	\$934.50	\$6.68	\$1,002.00	
36" x 12" Rectangle	200	\$6.06	\$1,212.00	\$6.09	\$1,218.00	\$6.21	\$1,242.00	\$7.47	\$1,494.00	\$8.01	\$1,602.00	
42" x 12" Rectangle	75	\$7.07	\$530.25	\$7.11	\$533.25	\$7.24	\$543.00	\$8.72	\$654.00	\$9.35	\$701.25	
48" x 12" Rectangle	75	\$8.08	\$606.00	\$8.12	\$609.00	\$8.28	\$621.00	\$9.96	\$747.00	\$10.68	\$801.00	
54" x 12" Rectangle	75	\$9.09	\$681.75	\$9.14	\$685.50	\$9.31	\$698.25	\$11.21	\$840.75	\$12.02	\$901.50	
24" x 9" Rectangle	20	\$3.03	\$60.60	\$3.15	\$63.00	\$3.10	\$62.00	\$3.74	\$74.80	\$4.01	\$80.20	
30" x 9" Rectangle	50	\$3.79	\$189.50	\$3.94	\$197.00	\$3.87	\$193.50	\$4.67	\$233.50	\$4.97	\$248.50	
36" x 9" Rectangle	100	\$4.55	\$455.00	\$4.73	\$473.00	\$4.65	\$465.00	\$5.60	\$560.00	\$6.01	\$601.00	
42" x 9" Rectangle	20	\$5.29	\$105.80	\$5.51	\$110.20	\$5.42	\$108.40	\$6.54	\$130.80	\$7.01	\$140.20	
48" x 9" Rectangle	10	\$6.06	\$60.60	\$6.30	\$63.00	\$6.21	\$62.10	\$7.47	\$74.70	\$8.01	\$80.10	
54" x 9" Rectangle	10	\$6.81	\$68.10	\$7.09	\$70.90	\$6.97	\$69.70	\$8.40	\$84.00	\$9.01	\$90.10	
12" x 18" Rectangle	25	\$3.03	\$75.75	\$3.05	\$76.25	\$3.10	\$77.50	\$3.74	\$93.50	\$3.98	\$99.50	
24" x 18" Rectangle	20	\$6.06	\$121.20	\$6.09	\$121.80	\$6.21	\$124.20	\$7.47	\$149.40	\$7.35	\$147.00	
24" x 30" Rectangle	20	\$10.10	\$202.00	\$10.15	\$203.00	\$10.35	\$207.00	\$12.45	\$249.00	\$11.60	\$232.00	
30" x 36" Rectangle	5	\$15.15	\$75.75	\$15.23	\$76.15	\$15.52	\$77.60	\$18.68	\$93.40	\$17.40	\$87.00	
24" x 36" Rectangle	5	\$12.12	\$60.60	\$12.18	\$60.90	\$12.42	\$62.10	\$14.94	\$74.70	\$13.92	\$69.60	
48" x 24" Rectangle	5	\$16.16	\$80.80	\$16.24	\$81.20	\$16.56	\$82.80	\$19.92	\$99.60	\$18.56	\$92.80	
48" x 30" Rectangle	10	\$20.20	\$202.00	\$20.30	\$203.00	\$20.70	\$207.00	\$24.90	\$249.00	\$23.20	\$232.00	
24" x 24" Diamond/Square	20	\$8.08	\$161.60	\$8.12	\$162.40	\$8.28	\$165.60	\$9.96	\$199.20	\$9.28	\$185.60	
30" x 30" Diamond/Square	25	\$12.63	\$315.75	\$12.69	\$317.25	\$12.93	\$323.25	\$15.56	\$389.00	\$14.50	\$362.50	
36" x 36" Diamond/Square	20	\$18.18	\$363.60	\$18.27	\$365.40	\$18.63	\$372.60	\$22.41	\$448.20	\$17.40	\$348.00	
ALUMINUM SIGN BLANKS TOTALS		\$6,69	\$6,694.20		\$6,764.70		\$6,855.75		\$8,254.55		\$8,513.85	

No Bid -

## Bids received for 2017 Annual Traffic and Safety Sign Materials and Sign Posts

BIDS RECEIVED FOR: Sign Posts BID DATE: 04/21/2017

ITEM: Green Baked - Truckload		MD So	MD Solutions		Dornbos		Rathco		htle	Osburn	
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
11' x 3#/ft	50	\$17.16	\$858.00	\$18.04	\$902.00	\$19.14	\$957.00	\$18.43	\$921.50	\$19.80	\$990.00
12' x 3#/ft	100	\$18.71	\$1,871.00	\$19.68	\$1,968.00	\$20.88	\$2,088.00	\$20.10	\$2,010.00	\$21.60	\$2,160.00
13' x 3#/ft	450	\$20.28	\$9,126.00	\$21.32	\$9,594.00	\$22.62	\$10,179.00	\$21.78	\$9,801.00	\$23.40	\$10,530.00
14' x 3#/ft	350	\$21.84	\$7,644.00	\$22.96	\$8,036.00	\$24.36	\$8,526.00	\$23.45	\$8,207.50	\$25.20	\$8,820.00
15' x 3#/ft	50	\$23.40	\$1,170.00	\$24.60	\$1,230.00	\$26.10	\$1,305.00	\$25.13	\$1,256.50	\$27.00	\$1,350.00
GREEN BAKED - TRUCKLOAD TOTAL		\$20,669.00		\$21,730.00		\$23,055.00		\$22,196.50		\$23,850.00	

ITEM: Green Baked - Bundles		MD Solutions		Dor	Dornbos		Rathco		htle	Osburn	
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
11' x 3#/ft	50	\$19.16	\$958.00	\$18.59	\$929.50	\$20.13	\$1,006.50	\$20.63	\$1,031.50	\$21.45	\$1,072.50
12' x 3#/ft	50	\$20.71	\$1,035.50	\$20.28	\$1,014.00	\$21.96	\$1,098.00	\$22.50	\$1,125.00	\$23.40	\$1,170.00
13' x 3#/ft	100	\$22.28	\$2,228.00	\$21.97	\$2,197.00	\$23.79	\$2,379.00	\$24.38	\$2,438.00	\$25.35	\$2,535.00
14' x 3#/ft	100	\$23.84	\$2,384.00	\$23.66	\$2,366.00	\$25.62	\$2,562.00	\$26.25	\$2,625.00	\$27.30	\$2,730.00
15' x 3#/ft	50	\$25.40	\$1,270.00	\$25.35	\$1,267.50	\$27.45	\$1,372.50	\$28.13	\$1,406.50	\$29.25	\$1,462.50
GREEN BAKED - BUNDLE TOTAL		\$7,875.50		\$7,774.00		\$8,418.00		\$8,626.00		\$8,970.00	

ITEM:	ITEM: Galvanized Delineator MD Solutions MD Solutions		lutions	Dornbos		Rathco		Lightle		Osburn	
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
7' x 1.33#/ft	300	\$7.45	\$2,235.00	\$6.30	\$1,890.00	\$7.15	\$2,145.00	\$10.40	\$3,120.00	\$19.48	\$5,844.00
DELINEATOR	DELINEATOR - BUNDLE TOTAL		\$2,235.00		\$1,890.00		\$2,145.00		20.00	\$5,844.00	
		MD So	MD Solutions		Dornbos		Rathco		htle	Osburn	
POSTS TOTALS		\$30,779.50		\$31,394.00		\$33,618.00		\$33,942.50		\$38,664.00	

\*1.12 LB delineator post